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Q 1. dizar &t ko 82

(A) 3=: (B) 18] (C) Hieid (D) Iuih T+t

Q 2. 2agR J&7 ¥ fahardht gt il S @8-

(A) @H-dH & (B) &Y &t

(C) 7 g &hY (D) d=ar &t

Q 3. fafEa A @ 9-91 ®u dkar &1 781 82

(A) g (B) g% (C) @ (D) &=

Q 4. dRaT 1 Tk fALw e 8-

(A) FIT9 (B) Aehel (C) 8 (D) 20T

Q 5. dRAT FT =T FT 8?2

(A) T8 Tahed fop forelt oft grera & g5 Sfia 8

(B) g & TroT Y iy faes g

(C) 9237 & forg Trears wR =gr Y g e @

(D) g3 74T 3R fA=rer @A

Q 6. 'dig & T TIT HgTaR o1 e &1

(A) FfSH 1 AT

(B) 31feh TR AT

(C) == T

(D) ITRI<H & @ hig A&

Q 7. 'STTH hel JHI3 SITQAT ATRT H hi=-91 FHI 872
(A) dehter  (B) wfersad ahrel

(C) AT &1l (D) IURI<h & § &S g

Q 8. Iz 3T e 3’ 3H AT &I Yg TY T 8?2
(A) T 931 TT6XT & (B) g Sifdrehier Mg 8

(C) ¥ 9§ e § (D) T Y s 3Hfeh ST g
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Q 9. 'Tefta T faeit ersg ghm
(A) st (B) 3rsfta
(C) uTsia (D) 39 ¥ @ls A8l

Q 10. "Ha9-ya fHaTdan 2real & 3fRd gt o1 g4
EAIE

(A) HHH-G9R (B) URTHH-TY

(C) HhH-=R (D) 89-R

Q 1. @A araT HisT 8-

(A) Caco3 (B) HNO3

(C) KMNO4 (D) NaHCO3

Q12. IEF IS w1 AGG @ -

(A) e (B)S@ (C) feuft dfmw (D) dhfee
Q 13. &R # Urar S arelt USIEH @ -

(A) aisfem  (B)df@= (C)FA (D) A=

Q 14. AR T YahT STHA H IS -

(A) &TeT b hiOIT  (B) Hdl T<h hivTeh

(C) graifam (D) wiested

Q 15. Icgsit g1 gl @ -

(A) grggr (B) o (O)f= (D) wieew
Q16. AR ATE -

(A) 85T (B) W (C) sHf (D) Thdf
Q17. 20 &&w agfa @ & angfy areht el wgerd! 8-
(A) o= (B) URIsrem

(C) 3rre@ (D) 79 | ahlS gt

Q 18. imiferes A &1 uar = are ArdedAR 8 -
(A) FAT (B) GPS (C) INTERNET (D) G MAIL

Q 19. 3mmaH Fi fafdy 7gi € -

(A) Tefor (B) Hag

(C) SRt (D) =ret

Q 20. T SATHT HT YA & -

(A) Ca(OH)2

(B) KMnO4

(C) K2S04Al12(504)3.24H20

(D) MgsSO04

Q 21. Identify the subject in the sentence:
"The dog barks loudly."

(A)dog (B)barks (C)loudly (D) The

Q 22. What is the synonym of "big"?

(A) small (B) large (C) tiny (D) narrow




Q 23. Which is a pronoun?

(A) she (B)book (C)run (D) happy

Q 24. What is the opposite of "cold"?

(A) warm (B) hot (C) frozen (D) cool

Q 25. What type of sentence is this? "Close the door."
(A) Declarative (B) Interrogative

(C) Imperative (D) Exclamatory

Q 26. Which is the correct spelling?

(A) tommorow (B) tomorrow

(C) tommorrow (D) tommorow

Q 27. Which sentence has a preposition?

(A) He runs fast.

(B) The cat is under the table.

(C) She sings beautifully.

(D) I am very happu.

Q 28. What is the plural of "tooth"?

(A) tooths (B) teeth (C) toothes (D) teeths
Q 29. Choose the correct possessive pronoun.
(A) mine (B)!I (C)me (D) myself

Q 30. What is the antonym of "fast"?

(A) quick  (B) slow (C)swift (D) speed

Q 31. 3+ I fterdr AU & TF Gl T hgd 82

(A) forforaturs (B) Htums (C) sifSatars (D) SRiuTw
Q 32. HrafR uda Hoft &1 g9 Fa "G &9 91 82
(A) da ST (B) algr dgT (C) T8 fAReR (D) o=y
Q 33. argAvEd i fohg uxa 4 Wt g aruy sirdt 82
(A) &ftyHuse (B) 9HATY HUSHA

(C) A HUSH (D) Hed HUSH

Q 34, argereHTd IF i 1 8?

(A) glgHeR (B) #9HeR (C) Sifad=ider (D) sRieR
Q 35. §H-U-3aTe! fohe mes A wRwT o o ?

(A) STl (B) 3ichaR (C) gAY (D) 28

Q 36. 1526 # UTIUd &1 UUH g5 fohdrch Hed gam ?

(A) STeR 3R SH1eH «ldl (B) FslfeH <l S o Fiv
(C) g 3R R & (D) gAY 3R T A8

Q 36. 1526 # UTHIUA T UUH G5 fohdich Hed gan ?

(A) aTeR 3R FaTfgs <ldr (B) gamfed «idt 3R rom |
(C) gAY 3R R2E G (D) §ARY 3R TER 28

Q 37. PRI AR &l 9T foha &t ot ?

(A) Rz At (B) Sta

(C) RS greien (MEESIGKIE

Q 38. &g y+ &Y wru=T fhgA &Y ?

(A) T 3% (B) TR 7= (C) T3 A1k (D) % 35
Q 39. IFIER TATAY T F&ITAT Hgl 8?

(A) 9fF (B) #ie (C) arfimesT (D) 871

Q 40. Wy dfaer & wifers sfdaRT &t dwen
ferart &1

(A)5 (B)6 (C)7 (D)8

Q41. 2°FHT A E?

(A)16 (B)32 (C)64 (D)12

Q 42. fordt = ofiR 5 &1 UHK 45 g1 af §&1
2 -

(A)9 (B)5 (C)7 (D)8

Q 43. 2 fohmm 377 &1 gog 84 TUY 1 at 10 faum sireL
&1 74 e ghm?

(A)T 42 (B)T 420 (C)3380 (D) %4200

Q 44. A A & 4/10 & T fa 81 & -

(A) 2/5 (B)6/15 (C)8/20 (D)12/25

Q 45. (x*)*/x” forads swrax @ -

(A) x® (B)x5 (C)1 (D) x?

Q 46. foreft et # 5 faenfefat = wftra & aden
hET: 40, 50, 68, 72, 70 3ich Ut fohg| faenfdat &
UTTeh! AT THTAR AT B -

(A) 50 (B)60 (C)70 (D) 75

Q 47. GHHIUT fAYST ABC H 10T B GHEIUT g | AT Tl
BC = 8 §¥ilo 3R 9T AB = 6 HHlo dl ¥ AC &t
cfaré gt -

(A) 7 @dto (B) 5 9Hto (C) 10 Tfto (D) 12 Gfo

Q 48. I 7 U fIheT T7600 H @Wic &2 38208 H a4
feam at g fran s ar g1fa g8 -

(A) 8% <19 (B) 8% g1 (C) 7% <119 (D) 7% BT
Q 49. 1500 Y TR 12% dTfch g1l hi & T TR
TS TR WR, 6 HIg a1 Y= fohan ghm -

(A) 1490 To (B) 1590 Fo (C) 1450 Fo (D) 1550 Fo
Q 50. Tf 4x+3 = 15 Tt x &1 7 g1 -

(A)2 (B)3 (C)4 (D)5
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